

Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

01.12.2016

H8) $S[x] := \int_{t_a}^{t_b} dt h(x(t), \dot{x}(t))$, $h(x, \dot{x}) := \frac{m}{2} \dot{x}^2 - \frac{m\omega^2}{2} x^2$

20/20

a) $HFC: (\delta_\epsilon S)[x] = (\partial_x h - \partial_t \partial_{\dot{x}} h)(x(t), \dot{x}(t))$

$\Rightarrow (\delta_\epsilon S)[x] = (\partial_x h - \partial_t \partial_{\dot{x}} h)(x(t), \dot{x}(t))$
 $= -m\omega^2 x(t) - \partial_t (m \dot{x}(t)) = -m\omega^2 x(t) - m \ddot{x}(t)$

Show for a special x !

P.6 (b) (i): $\bar{\delta}_{t_1}[x] := x(t_1)$

$\hookrightarrow (\delta_{t_1} S)[x] = -m\omega^2 \bar{\delta}_{t_1}[x] - m \bar{\delta}_{t_1}[\ddot{x}]$
 $= -m\omega^2 \bar{\delta}_{t_1}[x] - m \bar{\delta}_{t_1} \circ \partial_t[x]$

$\ddot{x} \hat{=} \partial_{t_1}^2 x$
 not ∂_{t_1} !

$\Rightarrow (\delta_{t_1} S) = -m\omega^2 \bar{\delta}_{t_1} - m \bar{\delta}_{t_1} \circ \partial_t$

4/4

b) $D := \bar{\delta}_{t_1} \circ \partial_t$ is a linear functional, because:

$D[h + \alpha f] = \bar{\delta}_{t_1}(\partial_t[h + \alpha f]) = \bar{\delta}_{t_1}(\partial_t h + \alpha \partial_t f)$
 $= \bar{\delta}_{t_1}(\partial_t h) + \alpha \bar{\delta}_{t_1}(\partial_t f) = D[h] + \alpha D[f]$

where square brackets/parenthesis?

where we used that $\bar{\delta}_{t_1}$ is linear: $\bar{\delta}_{t_1}[h + \alpha f] = (h + \alpha f)(t_1)$

and ∂_t is linear (w/o proof) $\left. \begin{aligned} &= h(t_1) + \alpha f(t_1) \\ &= \bar{\delta}_{t_1}[h] + \alpha \bar{\delta}_{t_1}[f] \end{aligned} \right\}$

Assume ∂_t linear!

P.6 (a): F linear $\Rightarrow (D_F F)[h] = F[F]$

$\Rightarrow \delta_{t_2}(D)[x] = \lim_{\epsilon \rightarrow 0} \left\{ (D_{\delta_{t_2}^\epsilon} D)[x] \right\} = \lim_{\epsilon \rightarrow 0} \left\{ D[\delta_{t_2}^\epsilon] \right\}$
 $= \lim_{\epsilon \rightarrow 0} \left\{ \bar{\delta}_{t_1}(\partial_t \delta_{t_2}^\epsilon) \right\} = \lim_{\epsilon \rightarrow 0} (\partial_t \bar{\delta}_{t_2}^\epsilon)(t_1)$

lim "inside" derivation?

$= \partial_t \bar{\delta}_{t_2}(t_1) = \partial_t \delta(t_2 - t_1) = (\partial_t \delta)(t_2 - t_1)$

\Rightarrow constant in x

constant in x , but why $\delta^\epsilon(t_1 + t_2) = \delta^\epsilon(t_1) \delta^\epsilon(t_2)$

P.7 (a): D_F is linear

$(\delta_{t_2} \delta_{t_1} S)[h] = \delta_{t_2} (-m\omega^2 \bar{\delta}_{t_1} - m \bar{\delta}_{t_1} \circ \partial_t^2)[x] \lim_{\epsilon \rightarrow 0} \left\{ D_{\delta_{t_2}^\epsilon} (-m\omega^2 \bar{\delta}_{t_1} - m \bar{\delta}_{t_1} \circ \partial_t^2)[x] \right\}$

$= \lim_{\epsilon \rightarrow 0} \left\{ (D_{\delta_{t_2}^\epsilon} (-m\omega^2 \bar{\delta}_{t_1}))[x] - (D_{\delta_{t_2}^\epsilon} (m \bar{\delta}_{t_1} \circ \partial_t^2))[x] \right\}$

$= \lim_{\epsilon \rightarrow 0} \left\{ (-m\omega^2) (D_{\delta_{t_2}^\epsilon} \bar{\delta}_{t_1})[x] \right\} - m \lim_{\epsilon \rightarrow 0} \left\{ (D_{\delta_{t_2}^\epsilon} (\bar{\delta}_{t_1} \circ \partial_t^2))[x] \right\}$

$= -m\omega^2 \delta_{t_2}(\bar{\delta}_{t_1})[x] - m \delta_{t_2}(\bar{\delta}_{t_1} \circ \partial_t^2)[x]$

$$= -m\omega^2 \delta_{t_1}(\delta_{t_2}) - m \ddot{\delta}(t_1 - t_2), \text{ where we used what we have}$$

$$= -m\omega^2 \delta(t_1 - t_2) - m \ddot{\delta}(t_1 - t_2) \quad \text{just proven for } n=0 \text{ and } n=2 \checkmark$$

$$\Rightarrow (\delta_{t_2} \delta_{t_1} S) = -m\omega^2 \delta(t_1 - t_2) - m \ddot{\delta}(t_1 - t_2) \quad \text{and therefore especially}$$

515

constant in [X]! \square

c) the functional derivative of a constant functional vanishes, because:

$$(\delta_{y_j} F)[h] = \lim_{\epsilon \rightarrow 0} \left\{ (D_{\delta y_j^{\epsilon}} F)[h] \right\} = \lim_{\epsilon \rightarrow 0} \lim_{\epsilon' \rightarrow 0} \frac{1}{\epsilon'} \left\{ F[h + \epsilon' \delta y_j^{\epsilon}] - F[h] \right\}$$

$$= \lim_{\epsilon \rightarrow 0} \lim_{\epsilon' \rightarrow 0} \left\{ C - C \right\} = 0, \text{ where } F[h] = C \text{ for any } h \in V.$$

Use \checkmark to prove in general?

Therefore it is trivial that

$$\delta_{t_3} (\delta_{t_2} \delta_{t_1} S) = 0, \text{ as we showed that } (\delta_{t_2} \delta_{t_1} S) \text{ is a constant functional}$$

By this, it also follows that

$$\delta_{t_n} \dots \delta_{t_2} \delta_{t_1} S = 0 \quad \text{for } n \geq 3 \text{ and any permutation of those}$$

4/4

Do we need to permute all of them?

Why for $n=0$ term $F[x]$?

d) functional Taylor expansion:

$$F[x+y] = \sum_{n=0}^{\infty} \int_{t_a}^{t_b} dt_1 \dots dt_n \frac{(\delta_{t_1} \dots \delta_{t_n} F)[x]}{n!} y(t_1) \dots y(t_n)$$

$$= F[x] + \int_{t_a}^{t_b} dt_1 (\delta_{t_1} F)[x] y(t_1) + \frac{1}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 (\delta_{t_1} \delta_{t_2} F)[x] y(t_1) y(t_2) + \dots$$

at the point x around x ?

$$\Rightarrow S[x_a+y] = S[x_a] + \int_{t_a}^{t_b} dt_1 (\delta_{t_1} S)[x_a] y(t_1)$$

$$+ \frac{1}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 (\delta_{t_1} \delta_{t_2} S)[x_a] y(t_1) y(t_2)$$

$$+ \sum_{n=3}^{\infty} \int_{t_a}^{t_b} dt_1 \dots dt_n \underbrace{\frac{(\delta_{t_1} \dots \delta_{t_n} S)[x_a]}{n!}}_{=0, \text{ see (c)}} y(t_1) \dots y(t_n)$$

Why Taylor expansion like this?

δx or δx_a ?

the 2nd term is equal to:

$$\int_{t_a}^{t_b} dt_1 (\delta_{t_1} S)[x_a] y(t_1) = \int_{t_a}^{t_b} dt_1 \left\{ \frac{\delta}{\delta x} h - \frac{\delta}{\delta \dot{x}} \frac{\delta h}{\delta x} \right\} (x_a(t_1), \dot{x}_a(t_1))$$

$$= \int_{t_a}^{t_b} dt_1 \{0\} = 0$$

$$\Rightarrow S[x_a+y] = S[x_a] + \frac{1}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 (\delta_{t_1} \delta_{t_2} S)[x_a] y(t_1) y(t_2)$$

$$= S[x_a] + \frac{1}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 \left\{ -m\omega^2 \delta(t_1-t_2) - m \delta''(t_1-t_2) \right\} y(t_1) y(t_2)$$

$$(*) = \frac{1}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 \left\{ -m\omega^2 \delta(t_1-t_2) \right\} y(t_1) y(t_2)$$

$$- \frac{1}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 m (-\partial_{t_2}^2 \delta(t_1-t_2)) y(t_1) y(t_2)$$

$$= -\frac{1}{2} \int_{t_a}^{t_b} dt_1 m\omega^2 y^2(t_1) + \frac{m}{2} \int_{t_a}^{t_b} dt_1 y(t_1) \left\{ \delta(t_1-t_2) y(t_2) \Big|_{t_a}^{t_b} - \int_{t_a}^{t_b} dt_2 \delta'(t_1-t_2) y(t_2) \right\}$$

$y(t_a) = y(t_b) = 0$
still for $\delta(x) y(x)$?

$$= -\frac{m\omega^2}{2} \int_{t_a}^{t_b} dt_1 y^2(t_1) - \frac{m}{2} \int_{t_a}^{t_b} dt_1 \int_{t_a}^{t_b} dt_2 \partial_{t_1} \delta(t_1-t_2) y(t_1) y(t_2)$$

Vanishing boundary terms \rightarrow

$$= -\frac{m\omega^2}{2} \int_{t_a}^{t_b} dt_1 y^2(t_1) - \frac{m}{2} \int_{t_a}^{t_b} dt_2 y(t_2) \left\{ \delta(t_1-t_2) y(t_1) \Big|_{t_a}^{t_b} - \int_{t_a}^{t_b} dt_1 \delta(t_1-t_2) \dot{y}(t_1) \right\}$$

What if again $-\partial_{t_2} \delta(t_1-t_2)$
 $\rightarrow -\int dt \frac{m\omega^2}{2} y^2(t)$
 $-\frac{m}{2} \int dt \delta(t_1-t_2) \dot{y}(t_1)$

$$\begin{aligned}
 &= -\frac{m\omega^2}{2} \int_{t_a}^{t_b} dt y^2(t) + \frac{m}{2} \int_{t_a}^{t_b} dt \dot{y}^2(t) = \int_{t_a}^{t_b} dt \left\{ -\frac{m\omega^2}{2} y^2(t) + \frac{m}{2} \dot{y}^2(t) \right\} \\
 &\quad \text{boundary term} \rightarrow \\
 &= \int_{t_a}^{t_b} dt L(y(t), \dot{y}(t)) = S[y]
 \end{aligned}$$

$$\Rightarrow S[x_a + y] = S[x_a] + S[y] \quad \square \quad 7/7$$

Why no
Q4) h?

Energy operator
hermitian?